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# create an INET, STREAMing socket
s = socket.socket (socket .AF_INET, socket.SOCK_STREAM)

# now connect to the web server on port 80 - the normal http port
s.connect ( ("www.python.org", 80))
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# create an INET, STREAMing socket

serversocket = socket.socket (socket.AF_INET, socket.SOCK_STREAM)
# bind the socket to a public host, and a well-known port
serversocket .bind((socket.gethostname (), 80))

# become a server socket

serversocket.listen (5)
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while True:
# accept connections from outside
(clientsocket, address) = serversocket.accept ()
# now do something with the clientsocket
# in this case, we'll pretend this is a threaded server

ct = client_thread(clientsocket)

ct.run ()
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class MySocket:
""'"demonstration class only
- coded for clarity, not efficiency

mn

def _ init_ (self, sock=None):
if sock is None:
self.sock = socket.socket (
socket .AF_INET, socket.SOCK_STREAM)
else:
self.sock = sock

def connect (self, host, port):
self.sock.connect ( (host, port))

def mysend(self, msg):
totalsent = 0
while totalsent < MSGLEN:
sent = self.sock.send(msg[totalsent:])
if sent == 0:
raise RuntimeError ("socket connection broken™")
totalsent = totalsent + sent

def myreceive (self):

chunks = []

bytes_recd = 0

while bytes_recd < MSGLEN:
chunk = self.sock.recv(min (MSGLEN - bytes_recd, 2048))
if chunk == b'':

raise RuntimeError ("socket connection broken")

chunks.append (chunk)
bytes_recd = bytes_recd + len (chunk)

return b''.join (chunks)
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In Python, you use socket.setblocking (0) to make it non-blocking. In C, it’s more complex, (for one thing,
you’ll need to choose between the BSD flavor O_ NONBLOCK and the almost indistinguishable POSIX flavor O_NDELAY,
which is completely different from TCP_NODELAY), but it’s the exact same idea. You do this after creating the socket,
but before using it. (Actually, if you’re nuts, you can switch back and forth.)
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ready_to_read, ready_to_write, in_error = \
select.select (
potential_readers,
potential_writers,
potential_errs,
timeout)
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